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BEFS| S5 EEBE RERR His %@{\_@%@;*
1 1 R BENVESFTORELE (RRERE) 87.00 =
2 2 EAEW WEWSFIOREILE (FRER) 84.00 =
3 3 HIED WEWVEFOREILE (FRER) 80.00 =
4 4 REF BN S FIOREILE (FRER) 79.00 =
5 5 TR REE BENVESFTORELE (RRER) 78.00 =
6 6 i FREVSFRLREILE (FRETR) 78.00 =
7 7 2R FHBA HEVESHOEEILE (RRER) 77.00 2
8 8 BT FREVSFRLREILE (FRETR) 75.00 =
9 9 ERFEN BENVESFTORELE (RRER) 74.00 =
10 10 B FREVSFLREILE (FRETE) 73.00 =
11 11 =87 HELSFOEEILE (FRAER) 72.00 =
12 12 ={ER BEIVSFORELE (RBRERE) 72.00 =
13 13 [ HEVEHOREEILE (RRER) 71.00 2
14 14 REE BENVSFORELE (RBREE) 71.00 =
15 15 it BEIVESHORELE (RREE) 69.00 =
16 16 T1aM BENVSHORELE (RREE) 69.00 =
17 17 BEE BENVESHORELE (RRERE) 69.00 =
18 18 EER BEIVSFHORELE (RRERE) 69.00 =
19 19 AR BEIVESHORELE (RRER) 68.00 =
20 20 X F+ BENVSHORELE (RRERE) 68.00 =
21 21 Z= 4R BEIVESHORELE (RRERE) 68.00 =
22 22 =5 BEIVSHORELE (RBREE) 68.00 =
23 23 SMT BEIVESHORELE (RREE) 68.00 =
24 24 X EWVSHOREILE (FRER) 68.00 =
25 25 LR 4E FHELESORELE (FRAER) 68.00 =
26 26 REEE BENVEFSFORELE (RBREE) 67.00 2
27 27 B5FA wHELESFOREELE (FRAETR) 67.00 =
28 28 R BENVEFFORELE (RREE) 67.00 =
29 29 EXEFS FHELETOREELE (FRAETR) 66.00 =
30 30 ZH4I BENVESFORELE (RBREE) 66.00 2
31 31 3 FHELEFOREELE (FRAETR) 65.00 =
32 32 =1 BENVEFFORELE (RBREE) 65.00 2
33 33 e Pl FHEL SO REELE (FRAETR) 64.00 =
34 34 SKELM BENVEFSFORELE (RBREE) 64.00 =
35 35 T FHELESORELE (FRAER) 64.00 =
36 36 TS BENVEFSFORELE (RBREE) 64.00 =
37 37 B FHELEFOREELE (FRAETR) 64.00 =
38 38 By WEWVSHOREILE (FRETR) 64.00 2
39 39 Seft wEVSTLREILE (FRETE) 64.00 =
40 40 B HELSTOEEILE (FRAETR) 64.00 2, AAEHHF
41 41 AiE WEWSFOREILE (FRER) 63.00 B
42 42 BT RENVESFORELE (RRREE) 63.00 b
43 43 ZWE HENVESTOREELE (RREE) 63.00 B
44 44 &= WEWVSHOREILE (FRER) 63.00 A
45 45 wm& WEWSFOREILE (FRER) 63.00 A
46 46 Kz BENVESFORELE (RREE) 62.00 =
47 47 Bk HEVSTLRELE (FRETE) 62.00 &
48 48 KEZ HELSFOREILE (FRAETR) 62.00 =
49 49 B3] HEVSTLREILE (FRETE) 62.00 &




50 50 FRFF BENVESFTORELE (RRERE) 62.00 =
51 51 SE-9/ FREVSTLREILE (FRETE) 62.00 &
52 52 ABEY BENVESHOREILE (RRER) 62.00 =
53 53 e FEVSFRLRELE (FRETE) 62.00 =
54 54 X|ZEH BENVESFTOREILE (RRERE) 62.00 =
55 55 ERRIR FEVSTOREILE (FRETE) 62.00 B
56 56 REX HEVESHOEELE (RRER) 61.00 &
57 57 X ER AR FEVSFILREILE (FRETE) 61.00 B
58 58 KFI1A BENVESFTOREILE (RRERE) 61.00 =
59 59 3K FEVSFLREILE (FRETE) 61.00 B
60 60 PeFR BENVESFTOREILE (RRERE) 61.00 =
61 61 BRI FEVSFILRELE (FRETE) 61.00 B
62 62 XIRER BENVESFTOREILE (RRERE) 61.00 =
63 63 Ll FEVSFILRELE (FRETE) 60.00 B
64 64 %R HELESHOEELE (RRER) 60.00 )
65 65 Eai BEIVSHORELE (RRERE) 60.00 =
66 66 Fox4O BENVESHORELE (RRERE) 60.00 =
67 67 m/hX BEIVSHORELE (RBREE) 60.00 =
68 68 OFE BEIVESHORELE (RRER) 60.00 =
69 69 =ZE BENVSHORELE (RBRERE) 60.00 =
70 70 RWE BEIVESHORELE (RRER) 60.00 =
71 71 Ei BENVSHORELE (RRERE) 60.00 =
72 72 EreZR BEIVESHORELE (RRER) 60.00 =
73 73 KBE BEIVSFFORELE (RBREE) 59.00 =
74 74 (R HELSFOREEILE (FBRAER) 58.00 =
75 75 B BENVSHORELE (RREE) 58.00 =
76 76 FhF AT BENVESHORELE (RRERE) 58.00 =
77 77 Oom BENVSFHORELE (RREE) 58.00 =
78 78 U FHELETOREELE (FRAETR) 58.00 =
79 79 EESE WEWVSFOREILE (FRER) 58.00 =
80 80 XBEER FHELEFOREELE (FRAETR) 57.00 =
81 81 kAN HEVSTROREILE (FRAETR) 57.00 =
82 82 B FR e FHEL SO REELE (FRAER) 57.00 =
83 83 T=E BENVEFSFORELE (RBREE) 57.00 =
84 84 g FHELESORELE (FRAER) 57.00 =
85 85 TEEE BENVEFSFORELE (RBREE) 57.00 =
86 86 S wHELESFOREELE (FRAETR) 57.00 =
87 87 AR Ss BENVEFSFORELE (RBREE) 56.00 =
88 88 i FHELETOREELE (FRAETR) 56.00 =
89 89 MBS E BENVEFSFORELE (RBREE) 56.00 =
90 90 K FE HELSROREELE (FRAETR) 55.00 =
91 91 B—% BENVESFORELE (RREE) 55.00 &
92 92 ITWE wEVSTLREILE (FRETE) 55.00 &
93 93 e BENVESFORELE (RREE) 55.00 =
94 94 FfafE wEVSTLREILE (FRETE) 55.00 &
95 95 M2 R RENVESFORELE (RRREE) 55.00 =
96 9 X kEZ wEVSTLRELE (FRETE) 55.00 &
97 97 HED BENVESFORELE (RREE) 55.00 =
98 98 BEH wEVSTLRELE (FRETE) 55.00 &
99 99 A% BENVESFORELE (RREE) 54.00 =
100 100 BER HEVSTLREILE (FRETE) 54.00 &
101 101 EnfE BEIVESFHORELE (RBRERE) 54.00 =
102 102 ) FWEVSTLREILE (FRETE) 53.00 B
103 103 JEEAs e HEIVESFTORELE (RBREE) 53.00 =




104 104 KWE BENVESFTORELE (RRERE) 53.00 =
105 105 XMW FREVSTLREILE (FRETE) 53.00 B
106 106 pUlEES FHELSFOEEILE (FRAER) 53.00 =
107 107 e FEVSFRLRELE (FRETE) 53.00 B
108 108 TE BENVESFTOREILE (RRERE) 52.00 =
109 109 1| ZE 4 FEVSTOREILE (FRETE) 52.00 B
110 110 ZER BENVESFTORELE (RRER) 52.00 =
111 111 FOA FEVSFILREILE (FRETE) 52.00 B
112 112 TRE BENVESFTOREILE (RRERE) 52.00 =
113 113 EpEE FEVSFLREILE (FRETE) 51.00 B
114 114 IR BENVESFTOREILE (RRERE) 51.00 =
115 115 & FEVSFILRELE (FRETE) 51.00 B
116 116 X BENVESFTOREILE (RRERE) 51.00 =
117 117 &= FEVSFILRELE (FRETE) 51.00 B
118 118 416 el [ BENVESFTORELE (RRER) 51.00 =
119 119 B BEIVSHORELE (RRERE) 51.00 =
120 120 X FFES BENVESHORELE (RRERE) 51.00 =
121 121 Bz BEIVSHORELE (RBREE) 50.00 =
122 122 e BEIVESHORELE (RRER) 50.00 =
123 123 wE BENVSHORELE (RBRERE) 50.00 =
124 124 X|BRE BEIVESHORELE (RRER) 50.00 =
125 125 =5 BENVSHORELE (RRERE) 50.00 =
126 126 TR BEIVESHORELE (RRER) 50.00 =
127 127 HEE BEIVSFFORELE (RBREE) 49.00 =
128 128 TEE BEIVESHORELE (RRERE) 49.00 =
129 129 BB BENVSHORELE (RREE) 49.00 =
130 130 XS BENVESHORELE (RRERE) 49.00 =
131 131 FRE BENVSFHORELE (RREE) 49.00 =
132 132 Bt FHELETOREELE (FRAETR) 49.00 =
133 133 HEE BEIVESFOREILE (RBREE) 49.00 =
134 134 SKZEE FHELEFOREELE (FRAETR) 48.00 =
135 135 BEE BENVEFFORELE (RBREE) 48.00 =
136 136 il FHEL SO REELE (FRAER) 48.00 =
137 137 MEF BENVEFSFORELE (RBREE) 47.00 =
138 138 XU HE FHELESORELE (FRAER) 47.00 =
139 139 (RS BENVEFSFORELE (RBREE) 47.00 =
140 140 T wHELESFOREELE (FRAETR) 47.00 =
141 141 BRI BENVEFSFORELE (RBREE) 46.00 =
142 142 B FHELETOREELE (FRAETR) 46.00 =
143 143 G BENVEFSFORELE (RBREE) 45.00 =
144 144 TS HELSROREELE (FRAETR) 45.00 =
145 145 =300 BENVESFORELE (RREE) 45.00 =
146 146 2 wEVSTLREILE (FRETE) 45.00 B
147 147 S5EF BENVESFORELE (RREE) 45.00 =
148 148 EE4 wEVSTLREILE (FRETE) 45.00 B
149 149 ER RENVESFORELE (RRREE) 44.00 =
150 150 FHEP wEVSTLRELE (FRETE) 44.00 B
151 151 GG BENVESFORELE (RREE) 44.00 =
152 152 B wEVSTLRELE (FRETE) 44.00 B
153 153 KBERTA BENVESFORELE (RREE) 43.00 =
154 154 & HEVSTLREILE (FRETE) 43.00 B
155 155 EE BEIVESFHORELE (RBRERE) 43.00 =
156 156 HELE FWEVSTLREILE (FRETE) 43.00 B
157 157 FhFET HEIVESFTORELE (RBREE) 43.00 =




158 158 PURE BENVESFTORELE (RRERE) 43.00 =
159 159 WES FREVSTLREILE (FRETE) 43.00 B
160 160 BE BENVESHOREILE (RRER) 43.00 =
161 161 ERERAA FEVSFRLRELE (FRETE) 43.00 B
162 162 i BENVESFTOREILE (RRERE) 42.00 =
163 163 HRin FEVSTOREILE (FRETE) 42.00 B
164 164 FREER BENVESFTORELE (RRER) 40.00 =
165 165 T FEVSFILREILE (FRETE) 40.00 B
166 166 RN BENVESFTOREILE (RRERE) 40.00 =
167 167 =EE FEVSFLREILE (FRETE) 40.00 B
168 168 RIE BENVESFTOREILE (RRERE) 39.00 =
169 169 TR FEVSFILRELE (FRETE) 39.00 B
170 170 BEH BENVESFTOREILE (RRERE) 37.00 =
171 171 =T FEVSFILRELE (FRETE) 37.00 B
172 172 TR BENVESFTORELE (RRER) 37.00 =
173 173 HWEE BEIVSHORELE (RRERE) 35.00 =
174 174 K BENVESHORELE (RRERE) 34.00 =
175 175 HaOE BEIVSHORELE (RBREE) 32.00 =
176 176 PERA BEIVESHORELE (RRER) 32.00 =
177 177 =EW FRELSFRLREILE (FRETR) 31.00 =
178 178 3K BEIVESHORELE (RRER) 30.00 =
179 179 FERHS BENVSHORELE (RRERE) 30.00 =
180 180 I BEIVESHORELE (RRER) 30.00 =
181 181 REN BEIVSFFORELE (RBREE) 29.00 =
182 182 T HELSFOREEILE (FBRAER) 26.00 =
183 183 BHE BENVSHORELE (RREE) 16.00 =
184 184 EEE FHEL SO REEILE (FRAETR) 0 B
185 185 REE WEWSFOREILE (FRER) 0 =
186 186 xE FHELETOREELE (FRAETR) 0 =
187 187 2R HEVSHOREELE (RRER) 0 =
188 188 R FHELEFOREELE (FRAETR) 0 =
189 189 FNKFE WEWSFOREILE (FRER) 0 =
190 190 WFM FHEL SO REELE (FRAER) 0 =
191 191 Z=Eth HEVSHOGEELE (FRER) 0 =
192 192 BT FHELESORELE (FRAER) 0 =
193 193 E—=F WEWSHOREILE (FRETR) 0 =
194 194 T wHELESFOREELE (FRAETR) 0 =
195 195 EiREr HEVSHOREELE (FRER) 0 =
BFE| #F% | Bims A B RENEARR
196 1 FNERTR BV SFOETIRE (RNER) 68.00 =
197 2 AN wEWSHOBTIRE (FRER) 65.00 2
198 3 XIR wEVSTOERTIRE (RRETR) 56.00 =
199 4 EWK wEWSHOBTIRE (FRER) 51.00 =
200 5 Sf3E wEVSTOETIRE (RRETR) 46.00 =
201 6 FihERE HEVSH USRS (ZRER) 46.00 2, AAEHBE
202 7 S BN SHOETIRE (RNER) 46.00 =
203 8 SRIER WENVSHOPTIRE (FRER) 41.00 =
204 9 PEE BN SHOETIRE (RNER) 41.00 7=
205 10 3 WEWVSHOEPTIRE (FRER) 40.00 =
206 11 S wEWSFOETIRE (RHNER) 38.00 =
207 12 XA FH WEWVSHOEBTIRE (ERER) 37.00 =
208 13 B WEWSFOETIRE (RNER) 35.00 =
209 14 X BEHE WEWVSFOEBTIRE (KRER) 34.00 =




EENEEHR

BFS | 2F5 EHEER ®ERAL &= Gt
210 1 ESEEEE BENVESTOERTRE (RRER) 73.00 =
211 2 PUPTIvES wEL ST REE (RBRAETR) 68.00 =
212 3 KAELE BENVESHOERTRE (RRERE) 67.00 2
213 4 Z=fa§F wEL ST REE (RBRAETR) 66.00 2, AAEHHF
214 5 BEE BENVESHORTRE (RRERE) 65.00 2
215 6 &L wEL ST REE (RBRAETR) 65.00 =
216 7 it E BENVESTOERTRE (RRERE) 64.00 =
217 8 RERE wEL ST REE (RBRAETR) 63.00 2
218 9 ¥WE BENVESHOIRTRE (RBRERE) 61.00 2
219 10 X1 %% wEL ST REE (RBRAETR) 61.00 =
220 11 EEIE - BENVESHORATRE (RRERE) 61.00 2
221 12 XIEH wEL ST REE (RBRAETR) 61.00 2, AAEHHF
222 13 KTE BENVESTOIRTRE (RRER) 60.00 2
223 14 ] BENVSHOHRTRE (RBRERE) 59.00 =
224 15 Bk RENVESHOERATRE (RRERE) 58.00 =
225 16 BR— HENVSHOHTRE (RRERE) 58.00 2
226 17 EFF REIVESHOERATRE (RRERE) 58.00 =
227 18 BXZ HENVSHOHRTRE (RRERE) 58.00 =
228 19 SES BENVESHOERATRE (RRERE) 57.00 =
229 20 EERX wENVSFHOHTRE (RBRERE) 57.00 =
230 21 IR wEL SO ETIRE (FRRAR) 56.00 A
231 22 e BENVSTOHRTRE (RRERE) 56.00 LR QN
232 23 T BENVESHOERATRE (RREE) 56.00 b
233 24 Sk HIE wEL SR ERTIREE (RBRATR) 56.00 B, ANEFHHF
234 25 TR BENVESHOERATRE (RRER) 55.00 =
235 26 #ER BHENVSHOHTRE (RREE) 55.00 =
236 27 SPE TwEVESTOEATIRE (FBRAETR) 54.00 =
237 28 SRR HENVESTOHRTRE (RREE) 53.00 =
238 29 | H Al TmEVSTOEATIRE (RBRETR) 52.00 =
239 30 B HENVESHOHTRE (RBREE) 52.00 =
240 31 Eiy:) TwEVSTOEATIRE (FBRAETR) 52.00 =
241 32 XA BENVESHOHRTRE (RBREE) 51.00 =
242 33 FhEE ST FmEVSTOEATIRE (RBRER) 51.00 =
243 34 SR wELSTROERTIRE (FBRATR) 50.00 =
244 35 &z FmEVSTOEATIRE (FBRER) 50.00 =
245 36 REE wELSROERTIRE (FBRAETR) 47.00 B
246 37 SeiE FmEVSTOEATIRE (RBRAETR) 43.00 =
247 38 SR AT 4L BENVESFHOHRTRE (RRERE) 42.00 =
248 39 Bk FmEVSTOEATIRE (RBRER) 42.00 =
249 40 FRig wEL SO EATIRE (FBRATR) 42.00 =
250 41 B wELSTLERTIRE (FBRAETR) 39.00 &
251 42 EfEd wEL S TROEATIRE (RBRATR) 37.00 =
252 43 WE$! wELSTLERTIRE (FBRAETR) 35.00 &
253 44 37 wEL S TROEATIRE (FBRATR) 30.00 =
254 45 Bibibh wELSTLERTIRE (FBRAETR) 22.00 &
255 46 HEI% wEL S TROEATIRE (RBRATR) 21.00 =
256 47 BT wELSTLERTIRE (FBRAETR) 0 B
257 48 e WEWVSFOETIRE (FRER) 0 =

Bre| oS | xims BER A RENEARA
258 1 RREL WEWSFORXRE (FRER) 73.00 =




259 2 EZH WEL SRR RE (FRAER) 67.00 =
260 3 F% 37 (8] FREVSFIONRRE (FRETE) 66.00 =
261 4 ZER TEV SRR RE (FREJE) 66.00 2
262 5 ESES FENV S FRIONRRE (FRETR) 64.00 =
263 6 AN TEAN TEV SRR RE (FREJE) 63.00 2
264 7 EX FEL S FIONRRE (FRETE) 63.00 =
265 8 B&F BENVEFTORXEE (RRER) 62.00 2
266 9 X B RENV S FRINRRE (FRETR) 62.00 =
267 10 R WEW SRR E (FRER) 60.00 2, AAEHHF
268 11 =iR4s REN S FILNRRE (FRETR) 58.00 =
269 12 WEF TEV SRR RE (FR4EJE) 58.00 2
270 13 Y Y REV S FINRRE (FRETR) 57.00 =
271 14 B BENVESFTORXEE (RRER) 56.00 2
272 15 X IR FREV S FRILNRRE (FRETR) 56.00 =
273 16 EFHF BENVESFTORXEE (RRER) 56.00 2
274 17 RS BENVFFOREE (RRERE) 56.00 =
275 18 IR A TEV S TIONRRE (FREJE) 55.00 =
276 19 BB 3iE BENVFHORXEE (RRERE) 54.00 =
277 20 % TEV S TILNRRE (FREJE) 54.00 =
278 21 EfEF BENVFFORXEE (RRERE) 54.00 =
279 22 EiyzEC TEVSTRIONRRE (FREJE) 53.00 =
280 23 =P BENVFFORXEE (RRERE) 53.00 =
281 24 FRRES TEV SR RE (FRETE) 53.00 =
282 25 PRI T BENVFFORXEE (RRERE) 52.00 =
283 26 R TEVSTIONRRE (FREJE) 51.00 =
284 27 k& BENVFFORXEE (RRERE) 50.00 =
285 28 BHER TEV S TIONRRE (FREJE) 50.00 =
286 29 LS BENVFFORXEE (RBRERE) 49.00 =
287 30 R TWEVSTORRE (FREJE) 48.00 =
288 31 s BENVEFFORXREE (RREE) 47.00 =
289 32 RE TEVSTIONRRE (FREJE) 47.00 =
290 33 Bl BENVEFFORXREE (RBRERE) 46.00 =
291 34 T TEVSTRIORRE (FREJE) 46.00 =
292 35 TIEE BENVEFFORXREE (RBRERE) 45.00 =
293 36 F— TEVSTRORRE (FREJE) 45.00 =
294 37 BRE BENVEFFORXREE (RBRERE) 44.00 =
295 38 XER TEVSTRIONRRE (FREJE) 44.00 =
296 39 B ZE A FENSFRONRRE (FRAER) 44.00 =
297 40 BER TWEVSTORRE (FREJE) 43.00 =
298 41 Ot BENVEFFORXREE (RBRERE) 42.00 =
299 42 PN WEWVSFORXRE (FRER) 42.00 =
300 43 =R BENVEFFORXREE (RBREE) 42.00 &
301 44 B A TWEVSTRIONRRE (FRETE) 40.00 B
302 45 EFE BENVESFORXREE (RBREE) 40.00 =
303 46 X RAE TWEVSTRIONRRE (FRETE) 40.00 B
304 47 BREE FELSFIORRE (FRAETR) 39.00 =
305 48 REH TWEVSFILNRRE (FRETE) 35.00 B
306 49 EdE= BENVEFFORXREE (RBREE) 34.00 =
307 50 EJVEN FEVSFIONRRE (FRETE) 26.00 B
308 51 E3 FEL SRR E (FRAETR) 0 =
309 52 EREW FEVSFIORRE (FRETE) 0 =
310 53 REF FEL S FIONRRE (FRAER) 0 =
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311 1 FHE HEVSHOERRE (RHNER) 73.00 =
312 2 BETE HEVSTOERRE (FNER) 70.00 =
313 3 ST HEVSHOEBRRE (RHNER) 68.00 £
314 4 k= A HEVSTFOERBRE (KNER) 65.00 2
315 5 REF HEVSHOEBRRE (RHNER) 63.00 2
316 6 T4 HEVSTOEBRE (KNER) 62.00 =
317 7 TR HEVSHOEBRRE (FHNER) 62.00 =
318 8 Rt HEVSTFOERBRE (KNER) 60.00 =
319 9 k2 A HEVSHOEBRRE (RHNER) 60.00 =
320 10 FxiE HEVSTOERBRE (KNER) 60.00 =
321 11 STEH HEVSHOEBRE (RHNER) 59.00 =
322 12 EE HEVSTOERBRE (KNER) 58.00 =
323 13 F= HEVSHOEBRRE (FHNER) 56.00 =
324 14 =R E HEVSTOERBRE (KNER) 49.00 =
325 15 K79 HEVSHOEBRRE (FHNER) 47.00 2, AAEHHF
326 16 HERE HELSTROERRE (FRER) 42.00 =
327 17 1B HEVSHOEBRRE (RHNER) 32.00 p
328 18 B 5 HELSTROERRE (FRER) 24.00 =
BFS| 855 | BEs B R RENEARR
329 1 X4 FELSTPORBRE (FRER) 78.00 =
330 2 R HEWFHOERBEE (FRER) 77.00 =
331 3 ELSiimi FELSPORBRE (TRER) 77.00 =
332 4 X ELEX FELSTOEBRE (RRER) 75.00 = AANEHHF
333 5 Z{mEE FELSTPORBRE (TRER) 75.00 =
334 6 FRR HEWFHOERBEE (PRER) 74.00 =
335 7 Is FELSPORBRE (TRER) 74.00 =
336 8 i HElSTROERRE (RBRER) 72.00 =
337 9 KER HEVSTOERRE (FREJE) 71.00 =
338 10 BB AR HmElESTROERRE (RREER) 69.00 =
339 11 Eugid HEVSFHOEBRE (FRER) 68.00 =
340 12 Pih HmElESTROERRE (RREJER) 68.00 =
341 13 T HEVSTOERRE (FREJE) 68.00 =
342 14 ki iE HEVSHOEPRRE (FRER) 68.00 2
343 15 FRERR HEVSTOERRE (FREJE) 67.00 =
344 16 F=E2iE HmEVESTROERRE (RBREJER) 67.00 =
345 17 &EF HEVSTOERRE (FBREJE) 67.00 =
346 18 BRES HEVSHOEPRRE (FRER) 66.00 =
347 19 2R HEVSTOERRE (FREJE) 66.00 =
348 20 MHEE HmElESTROERRE (RBREJER) 66.00 =
349 21 Wik HEVSFHOEBRE (FRER) 66.00 2, AAEHHF
350 22 5l HEVSHOEBRRE (FRER) 65.00 =
351 23 PR HEVSHOEPRE (FRER) 65.00 =
352 24 £ HEVSTROERRE (RBREJE) 65.00 2
353 25 ek HEVSHOEPRE (FRER) 65.00 =
354 26 Th HEVSTROERRE (RBREJE) 65.00 =
355 27 ok By HEVSHOEPRE (FRER) 65.00 =
356 28 e HEVSTROERRE (RFBREJE) 64.00 2
357 29 2% HEVSHOEPRE (FRER) 64.00 =
358 30 BARE HEVSTROERRE (RBREJE) 64.00 =
359 31 =i HEVSTOERRE (FRETE) 63.00 =
360 32 i HmEVSTROERRE (RREJE) 63.00 =
361 33 O HEVSTOERBRE (FRETE) 63.00 =
362 34 &5 HmEVSTROERRE (RREJE) 63.00 2




363 35 KR HEVSTOERRE (FBREJE) 63.00 2
364 36 ZRAREE HEVSTOERRE (FRETE) 62.00 =
365 37 H /R i&#] HEVSTOERRE (FREJE) 62.00 =
366 38 T HRHE HEVSTOERBRE (FRETE) 61.00 2
367 39 =EH HEVSHOEBRRE (FRER) 60.00 =
368 40 R FHEVSTOEBRE (FRETE) 60.00 =
369 41 TiE HEVESTOERRE (FREJE) 60.00 =
370 42 T2 FHEVSTOERRE (FRETE) 60.00 =
371 43 RIS HEVESTOERRE (FBREJE) 60.00 =
372 44 315 FHEVSTOERBRE (FRETE) 59.00 &
373 45 R HEVESTOERRE (FREJE) 59.00 =
374 46 EE HEVSTOERBRE (FRETE) 59.00 =
375 47 SRALTE HEVESTOERRE (FREJE) 58.00 =
376 48 BEE FHEVSTOERRE (FRETE) 58.00 &
377 49 FIEX HEVESTOERRE (FREJE) 58.00 =
378 50 EX HElSTROERRE (RBRER) 58.00 =
379 51 ETE] HEVSTOERRE (FBREJE) 58.00 =
380 52 XEEF HEVSHOEPRRE (FRER) 58.00 =
381 53 AisE HEVSTOERRE (FBREJE) 57.00 =
382 54 THE HmElSTROERRE (RBREER) 57.00 =
383 55 £ HEVSTOERRE (FREJE) 57.00 =
384 56 FRE HElSTOERRE (RBREER) 57.00 =
385 57 S HEVSTOERRE (FREJE) 57.00 =
386 58 [ HELSTROERRE (RBRER) 57.00 =
387 59 EhHE HEVSTOERRE (FBREJE) 57.00 =
388 60 Eegan HELSTROERRE (RBRER) 57.00 =
389 61 BER HEVSTOERRE (FBREJE) 56.00 =
390 62 XI{E, HElSTROERRE (RBRER) 56.00 =
391 63 FREEh HEVSTOERRE (FREJE) 56.00 =
392 64 BN TN HmElESTROERRE (RBREJER) 56.00 =
393 65 KIE HEVSTOERRE (FBREJE) 56.00 =
394 66 A HmElESTROERRE (RREJER) 55.00 =
395 67 i 22 3% HEVSTOERRE (FREJE) 55.00 =
396 68 SURIAT] HmElESTROERRE (RBREJER) 55.00 =
397 69 =g HEVSTOERRE (FREJE) 55.00 =
398 70 I HmElSTROERRE (RBREJER) 55.00 =
399 71 5L HEVSTOERRE (FREJE) 55.00 =
400 72 SN HmElSTROERRE (RBREER) 54.00 =
401 73 B =Y HEVSTOERRE (FREJE) 54.00 =
402 74 WER HmElESTROERRE (RBREJER) 54.00 =
403 75 H =] ik HEVSTOERRE (FREJE) 54.00 =
404 76 pdE:cpe HEVESTROERRE (RBREJE) 54.00 =
405 77 PUEION HEVSTOERRE (FRETE) 54.00 B
406 78 2 HEVSTROERRE (RBREJE) 54.00 =
407 79 B HEVSTOERRE (FRETE) 54.00 B
408 80 KEE HEVSTROERRE (RBREJE) 53.00 =
409 81 FTH=E HEVSTOERRE (FRETE) 53.00 B
410 82 SEHUR HEVSTROERRE (RBREJE) 53.00 =
411 83 #A T HEVSTOERRE (FRETE) 53.00 B
412 84 TELO HEVSTROERRE (RBREJE) 52.00 =
413 85 Vil HEVSTOERRE (FRETE) 52.00 B
414 86 L] HmEVSTROERRE (RREJE) 52.00 =
415 87 AT HEVSTOERBRE (FRETE) 52.00 B
416 88 ABE HmEVSTROERRE (RREJE) 51.00 =




417 89 ES7) HEWVSHOEBRRE (FRER) 51.00 &
418 90 BRER HEVSTOERRE (FRETE) 51.00 B
419 91 47 HEVSTOERRE (FREJE) 51.00 =
420 92 FREETEH HEVSTOERBRE (FRETE) 50.00 B
421 93 ARt HEVESTOERRE (FREJE) 50.00 =
422 94 EREES FHEVSTOEBRE (FRETE) 50.00 =
423 95 =EAR HEVESTOERRE (FREJE) 50.00 =
424 96 R FHEVSTOERRE (FRETE) 50.00 =
425 97 ZFIEf HEVESTOERRE (FBREJE) 50.00 =
426 98 2= FHEVSTOERBRE (FRETE) 49.00 =
427 99 =R HEVESTOERRE (FREJE) 48.00 =
428 100 TFBE HEVSTOERBRE (FRETE) 47.00 =
429 101 iy HEVSHOEBRE (FRER) 47.00 =
430 102 H&E FHEVSTOERRE (FRETE) 47.00 =
431 103 BEREL HEVESTOERRE (FREJE) 47.00 =
432 104 pUE$ HElSTROERRE (RBRER) 47.00 =
433 105 F=XAB HEVSTOERRE (FBREJE) 47.00 =
434 106 BB HELSTROERRE (RBRER) 47.00 =
435 107 E5 o HEVSTOERRE (FBREJE) 46.00 =
436 108 T HmElSTROERRE (RBREER) 46.00 =
437 109 FTER HEVSTOERRE (FREJE) 46.00 =
438 110 FNEE HElSTOERRE (RBREER) 46.00 =
439 111 FEF HEVSTOERRE (FREJE) 46.00 =
440 112 KEE HELSTROERRE (RBRER) 45.00 =
441 113 Ak HEVSTOERRE (FBREJE) 45.00 =
442 114 FXF HELSTROERRE (RBRER) 44.00 =
443 115 NEE HEVSTOERRE (FBREJE) 44.00 =
444 116 B R HElSTROERRE (RBRER) 42.00 =
445 117 X% HEVSTOERRE (FREJE) 42.00 =
446 118 =& HmElESTROERRE (RBREJER) 42.00 =
447 119 &EE HEVSTOERRE (FBREJE) 41.00 =
448 120 WEIE HmElESTROERRE (RREJER) 37.00 =
449 121 FRTIS HEVSFHOEBRE (FRER) 34.00 =
450 122 fAxE HEVSHOEPRRE (FRER) 0 =
451 123 EE HEVSFHOEBRE (FRER) 0 B
452 124 =i HENVESHOERRE (RBREE) 0 =
BFE| #F% | Bims BEH B RENEARR
453 1 RTES HEVSTRORERE (FBREJE) 89.00 =
454 2 W HWEWVSHORLERE (FRER) 88.00 =
455 3 S FHEVSTRORERE (FBREJE) 87.00 =
456 4 pUES GmEVSTRORERE (RFBREJR) 85.00 =
457 5 &% B HENVSHORERE (FRER) 83.00 =
458 6 FHIR FmEVSTRORERE (RFBREJE) 83.00 =
459 7 BRE HENVSHORERE (FRER) 83.00 =
460 8 Fi[§ 857 FmEVSTRORERE (RFBREJE) 82.00 2
461 9 Sk B e HENVSHORERE (FRER) 80.00 =
462 10 KT FmEVSRORERE (RFBREJE) 79.00 2
463 11 K HENVSHORERE (FRER) 76.00 =
464 12 LS GmEVSTRORERE (RFBREJE) 76.00 =
465 13 Re FREVSTRORERE (FBRETE) 76.00 =
466 14 BOF GmEVSTRORERE (RFBREJR) 76.00 =
467 15 KW FREVSTFORERE (FRETE) 75.00 =
468 16 1% X R GmEVSTRORERE (RFBREJR) 74.00 2




469 17 TiEF BENVESFORERE (RRERE) 74.00 2
470 18 XA FREVSFORIERE (FRETE) 74.00 =
471 19 FRW FmEVSTRORERE (FREJE) 72.00 2
472 20 LU FEVSFORIERE (FRETE) 72.00 =
473 21 KITE HmEVSTRORERE (FBREJE) 71.00 =
474 22 EISETE] FEVSFORIERE (FRETE) 71.00 B
475 23 BRATIE FmEVSTRORIERE (FBRETE) 71.00 &
476 24 Eaic FREVSFORIERE (FRETE) 70.00 B
477 25 B3 FmEVESTRORERE (FR4EJE) 70.00 =
478 26 iy FREVSFORIERE (FRETR) 69.00 B
479 27 BT FmEVSTRORERE (FRETE) 69.00 =
480 28 FHAE FREVSFORIERE (FRETE) 69.00 B
481 29 XWE HmEVSTRORIERE (FBR4EJE) 69.00 ES
482 30 BREE FREVSFORIERE (FRETE) 69.00 B
483 31 HEERK HmEVSTRORERE (FBR4EJE) 68.00 =
484 32 I HESE GmElSFORERE (RBRER) 68.00 =
485 33 TRIFE HEVESTRORERE (FBR4EJE) 67.00 =
486 34 FE WEWVSHORLERE (FRER) 66.00 =
487 35 T FHEVSTRORERE (FBR4EJE) 66.00 =
488 36 REH GmElSFORERE (RBRER) 66.00 =
489 37 BIR FHEVSTRORERE (FBR4EJE) 65.00 =
490 38 EFIA HENVSHORLERE (FRER) 64.00 =
491 39 SRIm % HEVSTRORERE (FBR4EJE) 64.00 =
492 40 HEE HEVSFORERE (RBRER) 64.00 =
493 41 A% FHEVESTRORERE (FBR4EJE) 63.00 =
494 42 HRS HmEVSFRORERE (RBRER) 63.00 =
495 43 BHE HEVESTRORERE (FBR4EJE) 63.00 =
496 44 T GmElSFORERE (RBRER) 63.00 =
497 45 [3ik5i FHEVSTRORERE (FRETE) 63.00 =
498 46 A HWEWSHORLERE (FRER) 62.00 &
499 47 XIHLAR HEVSTRORERE (FBREJE) 62.00 =
500 48 FRIHTE GmElSFRORERE (RBREJR) 62.00 =
501 49 S o i FHEVSTRORERE (FBRETE) 62.00 =
502 50 E%=B WEWVSHORLERE (FRER) 61.00 &
503 51 SREE FHEVSTRORERE (FBREJE) 61.00 =
504 52 & GElSFORERE (RBREJR) 61.00 =
505 53 57 FHEVSTRORERE (FBRETE) 61.00 =
506 54 BB HEWVSFORLERE (FRER) 61.00 &
507 55 R FHEVSTRORERE (FRETE) 61.00 =
508 56 ZEKR GmElSFRORERE (RBREJR) 61.00 =
509 57 BT FHEVSTRORERE (FBREJE) 60.00 =
510 58 k3% WEWVSHORLRE (FRER) 60.00 &
511 59 RS HENVSHORERE (FRER) 60.00 &
512 60 &= FmEVSTRORERE (RFBREJE) 60.00 =
513 61 FHE HENVSHORERE (FRER) 60.00 B
514 62 RER WEWV SR L RE (FRER) 60.00 &
515 63 LW HENVSHORERE (FRER) 60.00 B
516 64 TF=H GmEVSTRORERE (RFBREJR) 60.00 =
517 65 HIRE HENVSHORERE (FRER) 60.00 &
518 66 BIRE FmEVSTRORERE (RFBREJE) 60.00 =
519 67 wPE REVSHORERE (FRER) 59.00 &
520 68 REE GmEVSTRORERE (RFBREJR) 59.00 =
521 69 XIREA FREVSTFORERE (FRETE) 59.00 B
522 70 B GmEVSTRORERE (RFBREJR) 59.00 =




523 71 £ FmEVSTRORERE (FBR4EJE) 59.00 =
524 72 =4 FREVSFORIERE (FRETE) 59.00 B
525 73 tHX FmEVSTRORERE (FREJE) 59.00 =
526 74 X ZR F) FEVSFORIERE (FRETE) 59.00 =
527 75 FHta HmEVSTRORERE (FBREJE) 58.00 =
528 76 Tt FEVSFORIERE (FRETE) 58.00 B
529 77 REk FmEVSTRORIERE (FBRETE) 58.00 =
530 78 B IRIA FREVSFORIERE (FRETE) 58.00 &
531 79 AFR FmEVESTRORERE (FR4EJE) 58.00 =
532 80 EER FREVSFORIERE (FRETR) 58.00 B
533 81 A EHE FmEVSTRORERE (FRETE) 58.00 =
534 82 A FREVSFORIERE (FRETE) 58.00 B
535 83 HEER HmEVSTRORIERE (FBR4EJE) 58.00 =
536 84 HwHERIK FREVSFORIERE (FRETE) 57.00 &
537 85 i FEIA HmEVSTRORERE (FBR4EJE) 57.00 =
538 86 W GmElSFORERE (RBRER) 57.00 =
539 87 Earai HEVESTRORERE (FBR4EJE) 57.00 =
540 88 s GmELSFORERE (RBRER) 57.00 =
541 89 K FHEVSTRORERE (FBR4EJE) 57.00 =
542 90 =B GmElSFORERE (RBRER) 57.00 =
543 91 SRR FHEVSTRORERE (FBR4EJE) 56.00 =
544 92 FINEK GmElSFORERE (RBRER) 56.00 =
545 93 Rz HEVSTRORERE (FBR4EJE) 56.00 =
546 94 AL HEVSFORERE (RBRER) 56.00 =
547 95 KA FHEVESTRORERE (FBR4EJE) 56.00 =
548 9 Sk AN EWVSHORLERE (FRER) 56.00 =
549 97 £ HEVESTRORERE (FBR4EJE) 56.00 =
550 98 REH GmElSFORERE (RBRER) 55.00 =
551 99 2% FHEVSTRORERE (FRETE) 55.00 =
552 100 XE& GmElSFRORERE (RFBREJR) 55.00 =
553 101 OXF HEVSTRORERE (FBREJE) 55.00 =
554 102 AR GmElSFRORERE (RBREJR) 55.00 =
555 103 kTS FHEVSTRORERE (FBRETE) 55.00 =
556 104 BUFENE GmElSFRORERE (RBREJR) 55.00 =
557 105 EDK] FHEVSTRORERE (FBREJE) 55.00 =
558 106 FEA GElSFORERE (RBREJR) 55.00 =
559 107 BRI FHEVSTRORERE (FBRETE) 55.00 =
560 108 KA GmElSFRORERE (RBREJR) 54.00 =
561 109 i FHEVSTRORERE (FRETE) 54.00 =
562 110 e A A GmElSFRORERE (RBREJR) 54.00 =
563 111 R FHEVSTRORERE (FBREJE) 54.00 =
564 112 H&5 GmEVSTRORERE (RFBREJR) 54.00 =
565 113 XF1E HENVSHORERE (FRER) 54.00 B
566 114 IR FmEVSTRORERE (RFBREJE) 54.00 =
567 115 KK HENVSHORERE (FRER) 54.00 B
568 116 FNFBZR FmEVSTRORERE (RFBREJE) 54.00 =
569 117 KRR HENVSHORERE (FRER) 53.00 B
570 118 RERNE GmEVSTRORERE (RFBREJR) 53.00 =
571 119 FHER HENVSHORERE (FRER) 53.00 B
572 120 pUE FmEVSTRORERE (RFBREJE) 53.00 =
573 121 R FREVSTRORERE (FBRETE) 53.00 B
574 122 F I GmEVSTRORERE (RFBREJR) 53.00 =
575 123 B FREVSTFORERE (FRETE) 53.00 B
576 124 R E GmEVSTRORERE (RFBREJR) 53.00 =




577 125 SEs35) WEWSFORLERE (FRER) 53.00 =
578 126 A<fE FREVSFORIERE (FRETE) 53.00 &5
579 127 Kid FmEVSTRORERE (FREJE) 52.00 =
580 128 ERiELiE FEVSFORIERE (FRETE) 52.00 B
581 129 FE—3E HmEVSTRORERE (FBREJE) 52.00 =
582 130 iz FEVSFORIERE (FRETE) 52.00 B
583 131 E=XE FmEVSTRORIERE (FBRETE) 52.00 =
584 132 =& FREVSFORIERE (FRETE) 52.00 =
585 133 BT FmEVESTRORERE (FR4EJE) 52.00 =
586 134 FEERR FREVSFORIERE (FRETR) 52.00 B
587 135 TR FmEVSTRORERE (FRETE) 52.00 =
588 136 e FREVSFORIERE (FRETE) 52.00 B
589 137 o HmEVSTRORIERE (FBR4EJE) 52.00 =
590 138 EIEA FREVSFORIERE (FRETE) 52.00 =
591 139 =5 HmEVSTRORERE (FBR4EJE) 51.00 =
592 140 WLw GmElSFORERE (RBRER) 51.00 =
593 141 FIEH HEVESTRORERE (FBR4EJE) 51.00 =
594 142 EFIE GmELSFORERE (RBRER) 51.00 =
595 143 RERE FHEVSTRORERE (FBR4EJE) 51.00 =
596 144 ikt GmElSFORERE (RBRER) 51.00 =
597 145 KR FHEVSTRORERE (FBR4EJE) 51.00 =
598 146 =T GmElSFORERE (RBRER) 51.00 =
599 147 SEUL HEVSTRORERE (FBR4EJE) 51.00 =
600 148 B HEVSFORERE (RBRER) 50.00 =
601 149 KM FHEVESTRORERE (FBR4EJE) 50.00 =
602 150 KT HmEVSFRORERE (RBRER) 50.00 =
603 151 KRS HEVESTRORERE (FBR4EJE) 50.00 =
604 152 IR WEWVSHORLERE (FRER) 50.00 =
605 153 EIT FHEVSTRORERE (FRETE) 50.00 =
606 154 FE GmElSFRORERE (RFBREJR) 50.00 =
607 155 £ HEVSTRORERE (FBREJE) 50.00 =
608 156 FREE GmElSFRORERE (RBREJR) 50.00 =
609 157 X|ZE5E FHEVSTRORERE (FBRETE) 50.00 =
610 158 fraed GmElSFRORERE (RBREJR) 50.00 =
611 159 B—IR, FHEVSTRORERE (FBREJE) 50.00 =
612 160 KA GElSFORERE (RBREJR) 49.00 =
613 161 FEF FHEVSTRORERE (FBRETE) 49.00 =
614 162 A58 GmElSFRORERE (RBREJR) 49.00 =
615 163 WE s FHEVSTRORERE (FRETE) 49.00 =
616 164 (300! GmElSFRORERE (RBREJR) 49.00 =
617 165 ey FHEVSTRORERE (FBREJE) 49.00 =
618 166 F s GmEVSTRORERE (RFBREJR) 49.00 =
619 167 =B REVSTRORERE (FRETE) 49.00 B
620 168 BRI WEWVSHORLRE (FRER) 49.00 B
621 169 BRE HENVSHORERE (FRER) 49.00 B
622 170 BRER WEWV SR L RE (FRER) 49.00 B
623 171 B HENVSHORERE (FRER) 48.00 B
624 172 I GmEVSTRORERE (RFBREJR) 48.00 =
625 173 FxE HENVSHORERE (FRER) 48.00 B
626 174 TS FmEVSTRORERE (RFBREJE) 48.00 =
627 175 FA 3] FREVSTRORERE (FBRETE) 48.00 B
628 176 A GmEVSTRORERE (RFBREJR) 48.00 =
629 177 T FREVSTFORERE (FRETE) 48.00 B
630 178 SZ# GmEVSTRORERE (RFBREJR) 48.00 =




631 179 puiei FmEVSTRORERE (FBR4EJE) 48.00 =
632 180 ¥ A5 FREVSFORIERE (FRETE) 48.00 &5
633 181 B4R FmEVSTRORERE (FREJE) 48.00 =
634 182 FRBA FEVSFORIERE (FRETE) 48.00 =
635 183 R R HmEVSTRORERE (FBREJE) 48.00 =
636 184 SHIE FEVSFORIERE (FRETE) 48.00 B
637 185 LER FmEVSTRORIERE (FBRETE) 48.00 =
638 186 XFERE FREVSFORIERE (FRETE) 47.00 B
639 187 S ER I FmEVESTRORERE (FR4EJE) 47.00 =
640 188 KIEA FREVSFORIERE (FRETR) 47.00 B
641 189 RACHR FmEVSTRORERE (FRETE) 47.00 =
642 190 {RFEH FREVSFORIERE (FRETE) 47.00 B
643 191 NEE HmEVSTRORIERE (FBR4EJE) 47.00 =
644 192 R FREVSFORIERE (FRETE) 47.00 B
645 193 BERER HmEVSTRORERE (FBR4EJE) 47.00 =
646 194 M GmElSFORERE (RBRER) 47.00 =
647 195 BEHD HEVESTRORERE (FBR4EJE) 47.00 =
648 196 iz GmELSFORERE (RBRER) 47.00 =
649 197 X B FHEVSTRORERE (FBR4EJE) 47.00 =
650 198 K GmElSFORERE (RBRER) 47.00 =
651 199 EES FHEVSTRORERE (FBR4EJE) 47.00 =
652 200 K GmElSFORERE (RBRER) 46.00 =
653 201 FEE HEVSTRORERE (FBR4EJE) 46.00 =
654 202 BRRE HEVSFORERE (RBRER) 46.00 =
655 203 M= FHEVESTRORERE (FBR4EJE) 46.00 =
656 204 X¥F HmEVSFRORERE (RBRER) 46.00 =
657 205 HHEH HEVESTRORERE (FBR4EJE) 46.00 =
658 206 ZRRIE GmElSFORERE (RBRER) 46.00 =
659 207 EETE FHEVSTRORERE (FRETE) 46.00 =
660 208 S 24 GmElSFRORERE (RFBREJR) 46.00 =
661 209 A= HEVSTRORERE (FBREJE) 45.00 =
662 210 Fik GmElSFRORERE (RBREJR) 45.00 =
663 211 warte FHEVSTRORERE (FBRETE) 45.00 =
664 212 il GmElSFRORERE (RBREJR) 45.00 =
665 213 ik FHEVSTRORERE (FBREJE) 45.00 =
666 214 =R GElSFORERE (RBREJR) 45.00 =
667 215 i FHEVSTRORERE (FBRETE) 45.00 =
668 216 B3 GmElSFRORERE (RBREJR) 44.00 =
669 217 B FHEVSTRORERE (FRETE) 44.00 =
670 218 TH= GmElSFRORERE (RBREJR) 44.00 =
671 219 Eali FHEVSTRORERE (FBREJE) 44.00 =
672 220 FHE GmEVSTRORERE (RFBREJR) 44.00 =
673 221 £ HENVSHORERE (FRER) 44.00 B
674 222 KR FmEVSTRORERE (RFBREJE) 43.00 =
675 223 =15 FHEVSTRORERE (FRETE) 43.00 B
676 224 m FmEVSTRORERE (RFBREJE) 43.00 =
677 225 A HENVSHORERE (FRER) 42.00 B
678 226 KA GmEVSTRORERE (RFBREJR) 42.00 =
679 227 TXE FREVSTRORERE (FRETE) 42.00 B
680 228 LRI FmEVSTRORERE (RFBREJE) 42.00 =
681 229 BT REVSHORERE (FRER) 42.00 B
682 230 REE GmEVSTRORERE (RFBREJR) 42.00 =
683 231 B3] REVSHORERE (FRER) 41.00 B
684 232 RE K GmEVSTRORERE (RFBREJR) 41.00 =




685 233 THEE FmEVSTRORERE (FBR4EJE) 41.00 =
686 234 Sk 4 FREVSFORIERE (FRETE) 40.00 B
687 235 TEH FmEVSTRORERE (FREJE) 40.00 =
688 236 TN FEVSFORIERE (FRETE) 40.00 B
689 237 A HmEVSTRORERE (FBREJE) 40.00 =
690 238 B E FEVSFORIERE (FRETE) 40.00 B
691 239 FEHIT FmEVSTRORIERE (FBRETE) 40.00 =
692 240 TR FREVSFORIERE (FRETE) 39.00 B
693 241 iR FmEVESTRORERE (FR4EJE) 38.00 =
694 242 B E FREVSFORIERE (FRETR) 38.00 =
695 243 By FmEVSTRORERE (FRETE) 38.00 =
696 244 BHET FREVSFORIERE (FRETE) 38.00 =
697 245 FINES HmEVSTRORIERE (FBR4EJE) 37.00 =
698 246 ETED FREVSFORIERE (FRETE) 37.00 B
699 247 B IRR HmEVSTRORERE (FBR4EJE) 37.00 =
700 248 2 GmElSFORERE (RBRER) 37.00 =
701 249 HXfE HEVESTRORERE (FBR4EJE) 36.00 =
702 250 a8 GmELSFORERE (RBRER) 36.00 =
703 251 e FHEVSTRORERE (FBR4EJE) 35.00 =
704 252 FRT GmElSFORERE (RBRER) 35.00 =
705 253 BE FHEVSTRORERE (FBR4EJE) 35.00 =
706 254 FEH GmElSFORERE (RBRER) 34.00 =
707 255 TR HEVSTRORERE (FBR4EJE) 33.00 =
708 256 FARRIR HEVSFORERE (RBRER) 33.00 =
709 257 B FHEVESTRORERE (FBR4EJE) 33.00 =
710 258 IR HmEVSFRORERE (RBRER) 32.00 =
711 259 By HEVESTRORERE (FBR4EJE) 32.00 =
712 260 BEE GmElSFORERE (RBRER) 31.00 =
713 261 g FHEVSTRORERE (FRETE) 30.00 =
714 262 KT HWEWSHORLERE (FRER) 28.00 =
715 263 =R HEVSTRORERE (FBREJE) 28.00 =
716 264 XK GmElSFRORERE (RBREJR) 27.00 =
717 265 FrEERT FHEVSTRORERE (FBRETE) 25.00 =
718 266 TEH GmElSFRORERE (RBREJR) 23.00 =
719 267 BT FHEVSTRORERE (FBREJE) 21.00 =
720 268 H—iF HEVSHORERE (RRER) 0 =
721 269 TEE FHEVSTRORERE (FBRETE) 0 =
722 270 BIEX HEVSHORERE (RRER) 0 =
723 271 (RE5E FHEVSTRORERE (FRETE) 0 =
724 272 53]z WEWVSHORLERE (FRER) 0 =
725 273 WA FHEVSTRORERE (FBREJE) 0 =
726 274 TR WEWVSHORLRE (FRER) 0 =
727 275 HERT REVSTRORERE (FRETE) 0 B
728 276 P& HEVESHORERE (RRER) 0 =
729 277 i FHEVSTRORERE (FRETE) 0 &
730 278 T8 HEVESHORERE (RRER) 0 =
731 279 EZM WEVSHORERE (FRER) 0 A
BFE| 45 | #ims BE R RENREARR
732 1 HEE HEIVESFVEERE (RREE) 76.00 =
733 2 EHbS HEVSTIVBERE (FREJE) 75.00 =
734 3 ZRA HEIVESFTVEBRE (RRERE) 71.00 =
735 4 =5 mEVSTINVBERE (FRETE) 70.00 =
736 5 F wEIVESFTVEBRE (RRERE) 67.00 =




737 6 pi = HEVESHIBERE (RRER) 66.00 2, KAEXHHF
738 7 Z=fC REVSTIVBERE (FRETE) 62.00 2, AAEHHF
739 8 FEH HmEVESTIVBERE (FR4EJE) 61.00 2

740 9 =51 FREVSTIVBERE (FRETE) 60.00 =

741 10 FIHK HEVESHIBERE (FRRER) 60.00 2

742 11 *iEe REVSTIVBERE (FRETR) 58.00 =

743 12 PIN= 3 HmEVESTIVBERE (FR4EJE) 57.00 2

744 13 A& FREVSTIVBERE (FRETR) 57.00 2, AAEHHF
745 14 FEF BENVESFTVEERE (RRER) 55.00 2

746 15 [AkES2 REVSTIVBERE (FRETR) 54.00 =

747 16 KA HEVESTIVBERE (FREJE) 53.00 2

748 17 "2 REVSTIVBERE (FRETE) 53.00 2

749 18 KA HEVESTIVBERE (FR4EJE) 52.00 2

750 19 EF REVSTIVBERE (FRETE) 51.00 =

751 20 R 5= BENVESFTVEERE (RRER) 49.00 2

752 21 SHE wEIVSFVEBRE (RRERE) 48.00 LR QN

753 22 ZHk HEVESTIVBERE (FBREJE) 47.00 B, AANEFHFF
754 23 i o HEVSTIVBERE (FRETR) 45.00 B

755 24 XBE mEVSTIVBERE (FBREJE) 45.00 EH

756 25 FEZ wEIVSFVEBRE (RRERE) 43.00 =

757 26 FEUEER HEVSTINVBERE (FREJE) 43.00 =

758 27 M—R wEIVSFVEBRE (RRERE) 42.00 =

759 28 St HEVSTIVBERE (FRENE) 40.00 =

760 29 AT ERER wEIVSFVEBRE (RRERE) 30.00 =
BES| AR EEME REHR Rk E@{\E‘ﬁ?’*
761 1 2= HEWVSFHOERREE (RHNER) 82.00 p

762 2 4Tl WEVSHOERRE (FHNER) 80.00 =

763 3 M WEVSFOERRE (KHNER) 69.00 =

764 4 oy 5 HEVESHOERRE (ZHNER) 69.00 2

765 5 gt WEWVSFOERRE (RHNER) 67.00 =

766 6 =EH WEVSHOERRE (FHNER) 67.00 =

767 7 EWE WEVSFOERRE (RHNER) 66.00 =

768 8 SR WEWVSHOERRE (FHNER) 63.00 2

769 9 NN} WEVSFOERRE (KHNER) 63.00 =

770 10 FRfR— HEVESHOERRE (ZHNER) 61.00 2, AAEHHF
771 11 HE WEVSFOERRE (RHNER) 58.00 =

772 12 HFER WEVSHOERRE (FHNER) 56.00 =

773 13 IR WEVSFOERRE (RHNER) 54.00 =

774 14 R HEVSTFOEARE (ZRNER) 52.00 2

775 15 Sk= WEVSFOERRE (RHNER) 48.00 =

776 16 F{RAE HEVSHOERRE (ZRNER) 40.00 2

777 17 B I HEVESHOERRE (FNER) 38.00 =
BEe| sre | xEmsg BER AL RS RENREARR
778 1 £% ERLEFVEEETR (RRNER) 84.00 =

779 2 PUESE RV ESHOEEETR (RRER) 78.00 =

780 3 Z=0tHg RITWEHLNVEHER (RHNER) 71.00 =

781 4 BAESE RV ESHOEEETR (RRER) 71.00 =

782 5 EJVEN RITWEHLNVEHER (RHNER) 69.00 2, AAEHHF
783 6 SRS EVEHOEHER (RRER) 68.00 =

784 7 =m= TV EHNVEHER (KNER) 68.00 2

785 8 RF EVEHOEHER (RRER) 68.00 =




786 9 LS ROV EHRNEHEER (KNER) 67.00 2
787 10 EEE Rl ESHOEEETR (RRER) 66.00 =
788 11 2= EHLEHOEHEER (KRER) 66.00 =
789 12 F Al Bl ESHOEEETR (RRER) 66.00 =
790 13 e W EHOEHEER (KNER) 66.00 =
791 14 FNE B R EHOEHEER (KNER) 63.00 2. AATIHMF
792 15 =R EHLEHOEHEETR (KRER) 62.00 =
793 16 o= Rl ESHOEEETR (RRER) 62.00 =
794 17 TWiE EHLEHOEHEETR (KRER) 62.00 =
795 18 S Bl ESHOEEETR (RRER) 61.00 =
796 19 Z /=M EHLEHOEHEETR (KRER) 61.00 =
797 20 BET Rl ESHOEHEETR (RRER) 61.00 2, AAEHHF
798 21 E4K W EHOEHEER (KNER) 60.00 LR
799 22 KWIE Bl ESHOEEETR (RRER) 60.00 pEE N
800 23 X ETUEHLEHETR (RRNER) 58.00 b
801 24 RIB& B ESHOEEETR (RRER) 58.00 B
802 25 i EolEHEHER (RRER) 58.00 A
803 26 REK Bl ESHOEEETR (RRER) 56.00 =
804 27 EE) EoWEHEHER (RRER) 55.00 =
805 28 FNERRS EALESHOEHER (RRER) 54.00 =
806 29 hER EoWEHEHER (RRER) 54.00 =
807 30 Sk B ESHOEEETR (RRER) 53.00 =
808 31 FrERE EoWEHEHER (RRER) 53.00 =
809 32 EER B ESHOEETR (RRER) 53.00 =
810 33 & EolWEHEHER (RRER) 53.00 =
811 34 = 1A B ESHOEETR (RRER) 51.00 =
812 35 T W EolEHEHER (RRER) 44.00 =
813 36 i) Bl ESHOEEETR (RRER) 44.00 =
814 37 FEF EoVWEHEHER (RRER) 44.00 =
815 38 pupsyes ERLEFVEEETR (RRNER) 44.00 =
816 39 Bl EoUWEHEHER (RRER) 43.00 =
817 40 =R ERLEFVEEETR (RRNER) 43.00 =
818 41 KR SR EoUWEHEHER (RRER) 42.00 =
819 42 KN ERLEFVEEETR (RNER) 18.00 =
820 43 EX[=P%) EoUWEHOEHER (RRER) 0 B
821 44 pUEST ERLEFVEEETR (RNER) 0 =
BFE| #F% | Bims A B RENEARR
822 1 ERE EaWEHEHER (FIRER) 84.00 =
823 2 i RITWEHLNVEHFHER (FRER) 84.00 =
824 3 EEh RV ESHOEHEETR (RBRER) 84.00 =
825 4 ETHE RITWEHINVEHER (FRER) 83.00 =
826 5 RZR EVEHOEHER (RRER) 83.00 =
827 6 Iyl RITWEHINVEHER (FRER) 77.00 =
828 7 BEE EUWEHOEHER (RRER) 75.00 =
829 8 XA RITWEHINVEHER (FRER) 74.00 =
830 9 BAER RV ESHOEEETR (RBRER) 74.00 =
831 10 Z=RE RITWEHINVEHER (FRER) 73.00 =
832 11 FBR A ETWESHLEHETR (RRER) 71.00 =
833 12 SE0 RITWEHINVEHER (FRER) 69.00 =
834 13 i ERUESHOEHETR (FBRAER) 69.00 =
835 14 FRIEIR RITWEHINVEHER (FRER) 69.00 =
836 15 2B EUWEHOEHER (RIRER) 69.00 =
837 16 T3 RITWEHINVEHER (FRER) 68.00 =




838 17 Uik RITWEHINVEHER (FRER) 68.00 =, KAFHBF
839 18 2RIk RV ESHOEEETR (RBRER) 67.00 =
840 19 FiME EoWEHEHER (RIRER) 67.00 =
841 20 B R R ESHOEEETR (RBRER) 67.00 =
842 21 XA ETWEHILEHETAR (RRER) 67.00 2
843 22 X R ESHOEEETR (RBRER) 66.00 B
844 23 Spal RS HEHER (RIRER) 66.00 =
845 24 FEIR R ESHOEEETR (RBRER) 65.00 =
846 25 [N ETWEHILEHETAR (RRER) 65.00 =
847 26 X1 lid R ESHOEEETR (RBRER) 65.00 B
848 27 5pit W EHOEHEER (RBRER) 65.00 =
849 28 ERE R ESHOEEETR (RBRER) 65.00 B
850 29 FE RS HEHER (RIRER) 65.00 =
851 30 EIKik R ESHOEEETR (RBRER) 65.00 =
852 31 RS ETWEHILEHETAR (RRER) 64.00 =
853 32 F B R ESHOEEETR (RBRER) 64.00 =
854 33 B=R RV EHOEHEETR (RBRER) 63.00 =
855 34 B B ESHOEEETR (RBRER) 63.00 =
856 35 RAKHE RV EHOEHEETR (RBRER) 63.00 =
857 36 T EWESHOEEETR (RBRER) 63.00 =
858 37 T&7 RV EHOEHEETR (RBRER) 63.00 =
859 38 FNKAR B ESHOEETR (RBRER) 63.00 =
860 39 X[E RV EHOEHEETR (RBRER) 63.00 =
861 40 KRR B ESHOEEETR (RBRER) 62.00 =
862 41 WX RV EHOEHEETR (RBRER) 62.00 =
863 42 wE B ESHOEEETR (RBRER) 62.00 =
864 43 Rk RV EHOEHEETR (RBRER) 62.00 =
865 44 T B ESHOEEETR (RBRER) 62.00 =
866 45 5k H RV ESHOEHEETR (RBRER) 61.00 =
867 46 BXE ERLEFVEEETR (FRER) 61.00 =
868 47 BFEA RV ESHOEHEETR (RBRER) 60.00 =
869 48 %55 ERLEFIVEEETR (FRER) 60.00 =
870 49 S RV ESHOEHEETR (RBRER) 60.00 =
871 50 2= ERLEFIVEEETR (FRER) 60.00 =
872 51 R RV ESHOEHEETR (RBRER) 60.00 =
873 52 iyt ERLEFIVEEETR (FRER) 60.00 =
874 53 LR RV ESHOEHEETR (RBRER) 60.00 =
875 54 EL s ERLEFIVEEETR (FRER) 60.00 =
876 55 SKEEDT RV ESHOEHEETR (RBRER) 59.00 =
877 56 T2 ERLEFIVEEETR (FRER) 59.00 =
878 57 BaE RV ESHOEHEETR (RBRER) 59.00 =
879 58 FH RITWEHINVEHER (FRER) 58.00 B
880 59 =] RV ESHOEHEETR (RBRER) 58.00 B
881 60 Es RITWEHINVEHER (FRER) 58.00 =
882 61 KWE RV ESHOEHEETR (RBRER) 57.00 B
883 62 kEE RITWEHINVEHER (FRER) 57.00 B
884 63 FoE RV ESHOEHEETR (RBRER) 57.00 B
885 64 I E RITWEHINVEHER (FRER) 57.00 B
886 65 TMF R RV ESHOEEETR (RBRER) 57.00 B
887 66 WER RITWEHINVEHER (FRER) 57.00 =
888 67 Bk RV ESHOEHEETR (RBRER) 57.00 B
889 68 =2 RITWEHINVEHER (FRER) 57.00 B
890 69 [-12p720) RV ESHOEHEETR (RBRER) 57.00 B
891 70 T 1 RITWEHINVEHER (FRER) 56.00 B




892 71 THF BV EFVEEER (RBR4ER) 56.00 =
893 72 EIE R EHOEHER (RBRER) 56.00 B
894 73 £ EoWEHEHER (RIRER) 56.00 =
895 74 EiEA g R ESHOEEETR (RBRER) 56.00 =
896 75 FEMR EoWEHEHER (RRER) 55.00 =
897 76 == R ESHOEEETR (RBRER) 55.00 B
898 77 iR RS HEHER (RIRER) 55.00 =
899 78 LESR R ESHOEEETR (RBRER) 55.00 B
900 79 T R EHEHER (RRER) 54.00 =
901 80 FER R EHOEHEER (RBRER) 54.00 B
902 81 X[ NFE RS HEHER (RIRER) 54.00 =
903 82 IFHR R ESHOEEETR (RBRER) 54.00 B
904 83 B RS HEHER (RIRER) 53.00 =
905 84 FREF R ESHOEEETR (RBRER) 52.00 B
906 85 HEREE RS HEHER (RIRER) 52.00 =
907 86 3kt R ESHOEEETR (RBRER) 52.00 =
908 87 A EoWEHEHER (RIRER) 51.00 =
909 88 =R B ESHOEEETR (RBRER) 51.00 =
910 89 e EoWEHEHER (RRER) 51.00 =
911 90 B EWESHOEEETR (RBRER) 50.00 =
912 91 Tz EWEHEHER (RRER) 50.00 =
913 92 Fx B ESHOEETR (RBRER) 50.00 =
914 93 BE EoWEHEHER (RRER) 50.00 =
915 94 S B ESHOEEETR (RBRER) 50.00 =
916 95 2R8I EoWEHEHER (RRER) 50.00 =
917 96 KRBT B ESHOEEETR (RBRER) 49.00 =
918 97 £& EoWEHEHER (RIRER) 49.00 =
919 98 TWE B ESHOEEETR (RBRER) 49.00 =
920 99 Z{RHE RV ESHOEHEETR (RBRER) 49.00 =
921 100 =NE RITWEFNVEHFHER (FRER) 49.00 =
922 101 = AT RV ESHOEHEETR (RBRER) 49.00 =
923 102 MBI ERLEFIVEEETR (FRER) 48.00 =
924 103 MBI RV ESHOEHEETR (RBRER) 48.00 =
925 104 PR3 ERLEFIVEEETR (FRER) 48.00 =
926 105 EER RV ESHOEHEETR (RBRER) 48.00 =
927 106 BEiR ERLEFIVEEETR (FRER) 48.00 =
928 107 Hi= RV ESHOEHEETR (RBRER) 48.00 =
929 108 Btz ERLEFIVEEETR (FRER) 48.00 B
930 109 SKREFAR RV ESHOEHEETR (RBRER) 47.00 =
931 110 A ERLEFIVEEETR (FRER) 47.00 =
932 111 ESEE RV ESHOEHEETR (RBRER) 47.00 =
933 112 AN RITWEHINVEHER (FRER) 47.00 B
934 113 W RV ESHOEHEETR (RBRER) 46.00 B
935 114 TR RITWEHINVEHER (FRER) 46.00 B
936 115 fiusid RV ESHOEHEETR (RBRER) 46.00 B
937 116 FER RITWEHINVEHER (FRER) 46.00 B
938 117 XIIASE RV ESHOEHEETR (RBRER) 46.00 B
939 118 BHERE RITWEHINVEHER (FRER) 46.00 B
940 119 i RV ESHOEEETR (RBRER) 45.00 B
941 120 PNE RITWEHINVEHER (FRER) 45.00 B
942 121 L EUWEHOEHER (RRER) 45.00 B
943 122 AP RITWEHINVEHER (FRER) 44.00 B
944 123 GREF EUWEHOEHER (RIRER) 43.00 B
945 124 S T i RITWEHINVEHER (FRER) 42.00 B




946 125 FHREE BV EFVEEER (RBR4ER) 42.00 =
947 126 B RV ESHOEEETR (RBRER) 42.00 B
948 127 FFE EoWEHEHER (RIRER) 42.00 =
949 128 =mmE R ESHOEEETR (RBRER) 41.00 B
950 129 pUEE EoWEHEHER (RRER) 39.00 =
951 130 WZIE R ESHOEEETR (RBRER) 39.00 B
952 131 AR RS HEHER (RIRER) 38.00 =
953 132 EENH R ESHOEEETR (RBRER) 37.00 B
954 133 ERR R EHEHER (RRER) 37.00 =
955 134 EER R ESHOEEETR (RBRER) 32.00 B
956 135 =18 ETWEHILEHETAR (RRER) 30.00 =
957 136 PR3 R ESHOEEETR (RBRER) 30.00 B
958 137 R W EHOEHEER (RBRETR) 28.00 =
959 138 H/NB R ESHOEEETR (RBRER) 28.00 B
960 139 F#% RS HEHER (RIRER) 25.00 =
961 140 EEE R ESHOEEETR (RBRER) 20.00 =
962 141 Fiedezg 7N RV EHOEHEETR (RBRER) 15.00 =
963 142 BRI XEEARL | RSP OEHETR (RRER) 13.00 =
964 143 LY+ RV EHOEHEETR (RBRER) 12.00 =
965 144 B T EHOEHER (RBRER) 0 =
966 145 g RV EHOEHEETR (RBRER) 0 B
967 146 FER T EHOEHER (RBRER) 0 =
968 147 ST RV EHOEHEETR (RBRER) 0 =
969 148 TP LS R EHOEHER (RBRER) 0 =




